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1. Choose the best answer.

a) Ifthere............... a snowstorm right now, | wouldn’t be skiing.

O Was ais o would be o has been
b) Johncan’trunasfast............... his brother.

o like o @s o than o how
c) Look! Thatman can't see the wall. He ............ into it.

o walks o will walk o Isgeingtowalk o walked
d) Imagine! They haven't seen each other ......... more than forty years!

o since o 16 o during o while
e) And now, ladies and gentlemen, may | ............... present to you the star of the movie.

o proud o prouder o happy

f) That's the policeman ............... spoke to me yesterday.

o which o where o WHS o he
g) I'mreally interested ............... books. It's one of my hobbies.

o to reading D to read o reading
h) He's broken his leg, but he ............... again soon.

o walk o walks o can walk
i) lenjoy...c..... to pop, rock and funk.

o hearing o to hear o listenning 0
j) Where are ........... boots?

o whose a he's a hes n s

2. Ask about the underlined words.

Spelling mistakes: - 0.5 p per mistake

a) Where did his brother usually do his homework? usually in the wrong place: - 0.5 p
b) How much are they going to spend on luxury items?
c) Who has Jane gone out with? With who(m) has ...:=0p

Who's Jane gone out with?
d) Why is Bob staying at home?
Why’s Bob staying at home?
3. Make the following sentences negative or positive.

Spelling mistake: - 0.5 p per mistake

a) She doesn’t have two brothers. she doesn’t has...: =0p
She does not have two brothers.

b) He won’t sing any romantic songs. some instead of any: - 0.5 p
He will not sing any romantic songs.
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c) He bought that red car.

d) Don't listen to your friends!
Do not listen to your friends! Don’t you listen to your friends! =0 p

4. Fill in the correct form of the verbs in brackets.

Spelling mistake =0 p

a) care h) was working

b) remember i) got

c) told i) are you beaming

d) tried k) was speeding

e) didn’t succeed / did not succeed 1) was driving

f) look m) doesn’t have / does not have
g) has been n) won'’t get / will not get

5. Reading Comprehension |.

statement true false
a) Themistocles understood the hidden meaning of the Oracle at Delphi's b4

advice.
b) John Dunton was so happy about having a new girlfriend that he K

announced his new relationship status in a newspaper.

c) Inthe early days of the problem pages it was impossible for an English X
woman to have two husbands at the same time because it was illegal.

d) In the 18" century there were British parents who chose the husband X
or wife for their children.

€) Itwas not unusual in the 1990s for a Chinese girl to be forced into b4
being a much older man’s wife.

f) After Xinran had succeeded in bringing back the twelve-year-old girl to X
her parents, everybody was happy.

g) People still believed in witchcraft when the first regular problem pages b4
appeared.

6. Reading Comprehension ll.

Spelling mistake: =0 p

a) destroyed

b) success

c) realized / realised

d) reflect

e) rescued helped =0 p

f) ancestors
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NOTENSKALA / ENGLISCH

Punkte

28.5
25.5
22.5
19.5
16.5
13.5
10.5
7.5
4.5
1.5
0

30
28
25
22
19
16
13
10

Note




